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Match the following

List-1 List-II
A) ?:_ : + % +4: x#0 I)  1isneither odd nor even function
B) Tan™ {lug( X+ mn x>0 ) isaneven function
C) For3<x<$5 II) 1sanodd function
I|x—’-’_| -|—|1'—3| +|:r— S|
D) .sin 2x+sin’x+cos3x Vxe R IV) 1is the identity function

V)  1s a constant function
Bod 7d30 285095
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A) > 1+;+4: %20 D) $58 Hhohdn s57¢ Sobosw
e —1 2
D Paachdr 5
B) Tm1_1{lug(1'+xjn'1+l]]. x>0 I 28 50 PHaoohsdn
C) For3i<x<S5 M) =8 &% Hdohdn

I|1'—’-’_|-|—|:a'—3|-|—|:r—5|
D) sin2x+sin®x+cos3x Vye R IV) & @aohHdm
V) a8 96 @acshdn
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Question Number : 2 Question Id : 4557344482 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If f(x)=+2x-1 g 2
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f(x)=+2x—-1+5Cos | - | =ond f(x) Hdhobo GwE), HRKo
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Question Number : 3 Question Id : 4557344483 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

i?i‘(ﬁ'z-i-??-i-l):

n=l

Options:
| 500

Question Number : 4 Question Id : 4557344484 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



Let 1. @ and @’ be the cube roots of unity. If S is the set of all non-singular matrices of the

I & &
; . i .
foom| @ 1 c¢|wherea.b.c E{ . } . then the number of elements 11 S 15
N
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Options:
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Question Number : 5 Question Id : 4557344485 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If P and Q are two invertible matrices of the same order. then Ad; (QP) 1s equal to

P 58050 Qen &8 S6K&8 TohS Dotk e dhich Sr@gen wons, odvd: Ad) (QP)F=

Options:

e

Pl |Q(PQ)™

o]

|P| |QAdi(PQ)

. [Pl[Qladi(ep)

Question Number : 6 Question Id : 4557344486 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical



If the equations

h+[ﬁr+1 +(k—1)z=0,
(k=1)x+(k+2)y+k=0and

(k+1)x+hv+(k+2)z=0

have a non trivial solution. then the sum of all the possible values of ks

e+ (k+1)v+(k=1)-=0.
(k=1)x+(k+2)y+k =0 52605
(k+1)x+hv+(k+2)==0
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Options:
1. 0
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Question Number : 7 Question |d : 4557344487 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If @ is a complex cube root of unity and a. b. ¢ are distinct real numbers. then

: . g
a+bo+co +a+bm+em“_

A ¢
c+am+bw” b+ecow+aw”

W56 o880 B, 2.8 Jng DIBoreHn HBASM a. b, c o DY) TYS &Dg}gimé,

2

a+botce’ atbotco’

7 =T
c+am+be” b+ecow+aw

Options:
1. 1
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Question Number : 8 Question Id : 4557344488 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

4

Hz=x+i/and z° = [rf?]E . then

]

2 - 2 T ;
r=x+iySbain 2" =(IT) wonsd, wHvd

Options:

I T

"
L3

o P=EX
X
y=t—
3. 2
x=0,y=+1
4,

Question Number : 9 Question Id : 4557344489 Question Type: MCQ Display Question Number : Yes Single Line Question Option
: No Option Orientation : Vertical

If - :

g — and 6 1s acute then the modulus and amplitude of - respectively are
l—cosf+isinéd

1 : e .
= = 08051 0 oHnFoo wond, z @y, Srd, soirdrey Sdhdm
1—cosf+isind =
Options:
& (x @8

—cosec—. —\ —+—
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Question Number : 10 Question Id : 4557344490 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If oq. 5. & ..., arereal numbers, ¢; # 0 and - = cos & +7sind is aroot of the equation

O+ e+ o370 4. 4@,z + 2" = 0. then jcosnf+a,cos(n—1)8+ ... +a,cos6 =

E

0 #0. 0. 05. O3 ..., © TTD HoPGL S00I HoEYE0
: 2 — - 5 - —&
Qy+ 2+ 05z + ... —H::,:*j,,:ﬂ 1, -"_ 5% -=cosf+isinf =€ Sreo =ons,

aycosnf+a,cos(n—1)0+ ...+ @, cosf =

Options:

1

A

Question Number : 11 Question Id : 4557344491 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of distinct real solutions for the equation

il .
1‘“—|—21‘—8‘+x—2=0 15

| 9 : " e
‘x“ +21‘—8‘—|—1‘—2={} DaEdmBNSsy o DG 3D Hredne Dopg

Options:
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1

(B
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Question Number : 12 Question Id : 4557344492 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If x is real. then the sum of the maximum and the minimum values of the expression

.Tl-i-ﬁ(:l’-t-l :
= =
T4+ a+1

o
> FdxEl )
X RS Doy wond, JIrdo ———— D), §1Y, H8H Hende Indo
x +x+l 2 ) d
Options:
N
g =22
1,12
3. 1
4. U

Question Number : 13 Question Id : 4557344493 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

5. 8 ! 7 B ; .
If the minimum value of f(x)=x"+2bx+2¢" is greater than the maximum value of

.g(,«.;) — 2 —2¢cx + b2 for all real x then

. ' v, 2 4Lk i i 2
T @0G, 20 TS DenBOEr f(x) =x+2bx+2¢” B0Y, SR, g(x)=—x"—2cx+b

1.




Question Number : 14 Question Id : 4557344494 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If o. B. v are the roots of x° — 23 + 4x — 1 = 0 then the equation having the roots

1 1 1
ﬁ}”‘; af+—, HTE is

.f

_ 1 1 1
O 2+ 4x—1=0 @Bug) Sreren oL f ¥y wonsdS fr+—. af+—. }4:}’+E 3%
o

/

Sarerenm 0035 AdnEsdn

Options:

1;ﬁ+sﬂ—3r+3=0

—8x2+16x—-8=0
—8x>+8x—8=0

—4x>+8r—16=0

Question Number : 15 Question Id : 4557344495 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of ways in which all the letters of the word COMBINATION can be arranged so
that the vowels always come together 1s

COMBINATION 3 H58:8065°0 eforo)ods’ J6ya

- & & e ]
AL 200 8ees®, & e W) 28 T8
o

S wibge POPg

Ted

Options:
| 45678

Question Number : 16 Question Id : 4557344496 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If four points are taken on each of three parallel lines in a plane. then the maxinmun number
of triangles formed with these points is

28 g00S° D) Surd Sdrodd Dped’, B8 T Toih DodhPHes s &
fHotHhHod I8

:I |Bedere ﬁ&a ‘ﬁamg

Options:
1. 64

144

-2

5 208

4. 80

Question Number : 17 Question Id : 4557344497 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
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The sum of the coefficients of ¥*2 and x>1in | :

15

SoeH 258050 @0 hase Indo

Options:
y 1470

1260

L2

5 —1260

—1470

Question Number : 18 Question Id : 4557344498 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The coefficient of x!° in the product (1—x)(1-2x }[ 9% ){1— 23:() [1 — 215:{) is

50 .(1—1'}{1—2:{’}(1—23.1'][1 —2%x) ... (1-2Px)e° xP Hocasn

Options:



4121 5104
5105 | 5124
4105 _ 121

120 _ 5104

Question Number : 19 Question Id : 4557344499 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

4
X P R
If i —Ar LB Q2 R hen24P_BQ+R=
(x—1)"(x+1) (=1} (x=1) x+l
ot Q R
. =Av+B+ wons, 2AP-BQ+R=
(x=1)"(x+1) (x=1) (x-1)" x+1
Options:
|3
13
3.4
Ui
w4
"
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Question Number : 20 Question Id : 4557344500 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Thevalueof tan40” +tanll1” +tan 20" —tan 56° + tan 56 tanl1” ++/3 tan 40" tan 207 1s
tand40°+tanl1°+tan 20° —tan 56° + tan 56" tan11° + «J: tan 40° tan 20° @0, DS

Options:

NEES!
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Question Number : 21 Question Id : 4557344501 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

- ; | , > ( T )

If 6 1s in the third quadrant. then wjilsm‘* 6 +sin’ 26 +4cos’ % e =

: 2 i 1 g A A
O 5 dES rdHneT Gof. \/45111 d+sm- 20 +4cos” | ——— | =

W IS

Options:
| 1+2siné@
il
3. 1
4 2+4smd

Question Number : 22 Question Id : 4557344502 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

: . . . ! (4
If sec(@ + @). sech. sec(@ — @) are in arithmetic progression. then cosé?-sec7 =

. e _ o
sec(@ + ). sech. sec(@ — o) o0 wOEFHS” &N coa&’.sec: —

Options:
V3
2

1,

L2
51~

e
|+
b3
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Question Number : 23 Question Id : 4557344503 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The number of values of x with 0 <x <27 satisfyving the equation
smy+sm2y+sm3y=cosxy+cos2y+cos3v is

0€<x<2r eodsy siny+sm2y+sindxy=cosx+cos2x+cos3xy &:-5;@;;'355 X 308,
QDO ?f:og%

Options:
1, 7

Ll
A

Question Number : 24 Question Id : 4557344504 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

1 1 1 1
If Tan™! =i Pars e Tan —ikairk Tan ™} e Tan '8.then @ =
3 7 13 no+n+1

a1 4 =43 = 1 2 %
Tan '—4+Tan '—+Tan '—+..+ Tan 17—:1"311 16 wond 9 =
7 13 ne+n+l

Options:
i

y H+2

n
- H+1




Question Number : 25 Question Id : 4557344505 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

i "zlﬂ' 9 1 2
If u ZIugtan‘ I+? ] then coshu =

| mond, wisd coshu =

Options:

1 sec O

tan @

L2

: cosec @

4 cot 7,

Question Number : 26 Question Id : 4557344506 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

a b ¢
ImAABC.if|b ¢ al|=0.thencosAcosB+cosBcosC+cosCcos A=

g i b

.nf b c
AABCe* |b ¢ al=0 =002, cosAcosB+cosBcosC+cosCcosA=
c g b
Options:
y =k
3
2 4
9
3 4



Question Number : 27 Question Id : 4557344507 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In A 4BC .if A=60° and B = 105° then

2R (b—c)smAsmBsinC B

(b+c)s—acosC—cecosA)(s—acosB—bcosA) B

AABC&® A=60° 508030 B=105° wonad

2R?(h—c)sinAsinBsinC B
(b+c){s—acosC—ccosA)(s—acosB—bhcosA)

Options:

1)

I'J_]

(i

Question Number : 28 Question Id : 4557344508 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

InAABC. if [A =90°. then 2(r+R) =

A ABC &5* |A =90°w0on8, &by 2(r+R) =

Options:
pat+b

b+ec

L2

4 B

Question Number : 29 Question Id : 4557344509 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If the position vectors of A. B. C. D are -?+2}—-EE. 2i —j.i+j+3k and .:E%—SAT

respectively. then the quadrilateral ABCD is a

A.B. C.D06odo 8 $0¥en S6bm 7+ +2F, 27 - 7. T+7+3F 500050 47 +5F
R0 S dnzsn ABCD &8

Options:
Square

weadhan

Rectangle
AARE: St

Rhombus
ey B i&:rtﬁ:-ﬁj}eam}

Parallelogram

DATroSS warEy 3

Question Number : 30 Question Id : 4557344510 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If.[;TT +7+k).7+27+3k) and (27 — + ;?) are the position vectors of the vertices A.

B and C of A ABC respectively. then the vector equation of the altitude through A 1s

(747 +Fk).(7+27 +3k) S00aso (27 =7 +k ) oo S0 AABC 2000 A.B.Co i
HOIDB, AhomdFcdh 4Hd G0, HhH7 8600

Options:
F=i+j+k+r(7+27+3k)
1 (7 is a parameter, 7 e.8 B0 i)

F=1+]+k+t(2T -7 +k)

, (71s a parameter. 2.8 H0°i0&)



F=i+j+k+r(i—j+2k)
5 (7 1s a parameter. /.8 Hodoé)

=1+ +k+t(47 +2] +4k)
; (f 1s a parameter. 7 2.8 D00 &)

Question Number : 31 Question Id : 4557344511 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the adjacent sides of a rectangle are 7@ = 577 — 377, b =—in— 27 and the adjacent sides of

another rectangle are ¢ =—4m—n.d =—m+#n . then the angle between the vectors

_ a+c+d ™
Eee o oand VE=—— 58
3 3
2.8 BESHEHDD Bwg), ©0Y) Hadoes a=5m—31.b=—mN—-21 HOBH HEE
& o o o =, —. = P — R iy a-+c+ ff
BE SR wdNhiherey c=—4m—-nu.d =—m+n mond, HhFdey x=—
. E%d
Y=—— ® 5y Foadn
5
Options:
T
a2
L *
4f 19 )
0%
7 43 )
o 38 9
Cos™ + 7T
543
3 43
T
Sin 2
4443
4.

Question Number : 32 Question Id : 4557344512 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The perpendicular distance from the point 37 — 27 + k to the line joining the points
perp P f ] = P

737 +5k and 27 + 7 — 4k is

'3T—2I+E £08) o0& Doden T—SJHE SB050 '2?+_7—4E 5 979 BT
ey exodadan

Options:

Question Number : 33 Question Id : 4557344513 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Let /, be the line passing through the point 3+ 47 —2k and parallel to the vector
T+ 27 +k.Let /, be another line passing through the point = 77 —2k and parallel to

the vector 7 + 3 + 2k . Then the shortest distance between the lines /, and /, is

'3?4_4?_2;—_ Ho%d Momddr, —7 +2] +k H6§% $S5roddor 408 Tod I
wiFomo. 7—77 — 2k Do) Momdrdr, 7 +3] +2k H04& SSrodbonr &od 678
B 1, eofomro. winds 1, 1, Spe gy o sedd $rosmn

Options:

1. 35

[
WO

3 V6

29

Question Number : 34 Question Id : 4557344514 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Options:

187 —187 -9k
3 187 +187 -9k

187 —187 + 9k

3=

Question Number : 35 Question Id : 4557344515 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The mean of five observations 1s 4 and their variance 1s also 4. If three of the five observations
are 1. 3. 4 then the product of the other two 1s

2% HbZerse -:ﬁ:ogb .3.635‘5553 o 4 58050 778 DG Srm® 4 & pH0otses Sardh Hifade

g

1. 3. 4 wond, onadS Dokodd @08, 220

Options:
1. 32

36

L2

Question Number : 36 Question Id : 4557344516 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



The mean deviation of the following data about its mean is
X 5 15 25 35 45

i
7 8 48 5 16

o
La]
-2

& |fo8 OEoddnns wosMEEN0 08 IGgHy Je5an
kS 5 45
48 6 16

Lh
2
(W]
]

A

A

o
L
L]
[

Options:
| 25

12

L2

4.16

Question Number : 37 Question Id : 4557344517 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If three distinct vertices are chosen at random from the vertices of a cube. then the
probability that they form the vertices of an equilateral triangle. is

b‘i
£
""E,,K
oy
A
-
)
£,
[
®

g8 S0 @ng dSve Hod ojj‘ﬁ&fﬁsor? 08 DED) Bome

S Fddnen w8 Sk (@:ghadom Eéﬂjé’sﬂ??&g Slekagh i
Options:

|

1, 7

!._:l
~1 | 2

=
o0 | =

Question Number : 38 Question Id : 4557344518 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Let A and B be two independent events such that P(B) = P(A). If the probability that both

1
A and B happen is 12 and the probability that neither A nor B happens is — then

P(B) = P(A) &:a‘i)géjﬁg A. B en Bodh dgfoid dodaden. A, B en Bodr 28noh% Ko

1
p:oarégé 1_7 08c%0 A. B ey Bodr a8iEFSmA8 i :fmep;ﬁg E 0o0E, m;’zﬁdﬁo
Options:
p(a)= L. p@)= 2
| s 2
P(A)= —. P(B) = -
1 h 4 3
1 1
P(A)=—.P(B)= —
3 &) 5
1 1
P(A)=—.P(B)= -
4 6 3

Question Number : 39 Question Id : 4557344519 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A person 1s known to speak truth in 3 out of 5 times. If he throws a die and reports that it 1s
six. then the probability that it 1s actually six. 1s

w8 $g8 Sarges” 3ard) dzo Jenard. edd o FOSSH D0 TP B HA0dd TS
a0 @f st N8 de Sogrd &“

Options:



i
3

4,13

Question Number : 40 Question Id : 4557344520 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the probability function of a random variable X is given by

BPAX =)=

: j =L 2. 3. .... #« then the variance of X 1s

I~
o

sl Iy, a 1 '
BE oSrdhying dood X Dogrdgo PHabosrdy P(X =j)=—:j=1L2.3..... 0 = 97y,
[T REA =l -l_,j —
s X G0ng. amé
i —Qﬂ'
Options:
¥
e
7.3
; 4
4.5

Question Number : 41 Question Id : 4557344521 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the sum and product of the mean and variance of a binomial distribution are 15 and
54 respectively. then the number of trails in 1t is

e Be3G Dereddn :}_:'}::-351 md%mm}\ u.:'ﬂ".?_'i}ﬂ Jngo dbodn ﬂ)eumar;}w D808
15 50805 54 wonds orad” chddne Sopg

Options:

27

1. 54
.

3 28
81

Question Number : 42 Question Id : 4557344522 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A(5. 3). B(3.-2). C(2.-1) are three points. If P is a variable point such that the area of the
quadrilateral PABC 1s 10sq. units, then the locus of P 1s

A(5. 3). B(3. -2). C(2. -1) o Hordh Dodhden. ud P S8D05 ﬁé&dﬁﬁ&ié}& PABC
BwE), Irregdn 10 dofr. wddghty &of, P @ng), Hokhdo

Options:

| 1637 =243y + 97 — 144x + 108y - 76 =0

~

-

1632 — 24xv + 912 + 144y — 108y — 76 =0
; 163° — 24xp+ 92 — 144x + 108y + 76 =0

, 1687 = 24xv + 937 + 144x — 108y + 76 =0

Question Number : 43 Question Id : 4557344523 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the origin is shifted to the point (1. 1) and the axes are rotated through an angle 45° about
this point. then the transformed equation of the equation x>+ 2x1 +172— 1 =01s

Siredoddd (1. 1) Do 348 3rdy, sgodH & DodhIhddor 45° © Fwod
H0EfSe0 BOBHYE, X2+ 2y +37 — 1 =0 3508800 Gng), HOBLS HdosGwo

Ll ':l_.-:,.J

Options:
.
217 —4\2y—3=0

l.
.
L2977 +42v-3=0

2x° +4J2x+3=0

4 252 - 42x43=0

Question Number : 44 Question Id : 4557344524 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A line is passing through the point (4. 3) and the sum of its intercepts made on the coordinate
axes 1s 14. Then an equation of that line is

(4. 3) Dochy HomFd =8 Bp JSTrHETEIVLT Dol soddpodine DnHdsn 14.
@ 090 BnE) el DIFdasn

Options:

| 3x+4y=24
, 6x+8v=24
, dx+3y=25
s Ak —3p="1

Question Number : 45 Question Id : 4557344525 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If (x;. v,) and (x,. ¥,) are two points on the line x + 1+ 3 = 0 such that each of them is at a

distance of /5 units from the line x + 2y+2=0.thenx; +x, +v; +¥,=

ik

x+y+3=0092 o Boi DothPen (xg. 1. (X. 1) 00 B8 88, x+2v+2=0 ®
D% 5 0L SPESNeSt ST, X +x, + Y 1, =

Options:
1. —6

n 20

Question Number : 46 Question Id : 4557344526 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



1
r

&

Match the following. §of 08 2ddabo

List-1 28 -1 List-1II. exd)e - 11

A)  The equation of line passing through (4. 3) whose I) .x+‘1-—2ﬁ =0
X-intercept is twice its Y-intercept
(4. 3) hom&Fdr, O @nE) X woddpodko
o0 Y woddpomds BEod) wdlglotn
&) 2850 Do
B) The equation of the line passing through the centroid oy 7x+23y—-8=0
and circumceentre of A ABC with vertices
A(1.1).B(3.3).C (6.-6)
A(1.1).B(3.3).C (6.-6) sozenm ffe
A ABC G3n8), So(@zda8» 518080 58800
HomaFcd H5¢0n HHE80
C) The equation of the line whose X-intercept 1s [_5 5) IT) . Xx42v+ -JE =0
and 1s perpendiculartox—1y+2=20

x—yv+2=0:36¢08 oo &odr

-

X-wodoposo (~;) m de 5668 586mo
D) The equation of the line whose distance from theorigm IV) x+2v—-10=0
1s 2 and the normal drawn from the origin makes
an angle 45° with the positive direction of X-axis
Sarodothd) Sod 2 ohrady Srdo wod,
Sredotd ok oras Hdd vowo X-wgo @0E)

SoBEeT” 45° 0% TR HEE0PE HI0EG0
Y) 5% +3=0

The correct answer 1s

étﬁg}_ﬁaé Haorprao

Options:
A B € B
LV @) @

A B C D
, @ V) @) @



& B ! D
, @™ @M V) @

A B € B
, @ @O @ )

Question Number : 47 Question Id : 4557344527 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If (a. b) is the centroid of the triangle formed by the lines 4> — 1 7av+ 47 =0and x+v—5=0and
¢ 1s the numerical value of the area of the triangle. thena + b+ ¢ =

A2 1T+ 42 =050050 x+v—5=00p0d SR (@ghahn Ong) Soberdan (a.b)

wadr e |&ehe STOF0 G ﬁ@%}"’é_;?’.figg DenSs cebod, atb+e=

ur

Options:
25

Question Number : 48 Question Id : 4557344528 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the lines represented by the equation 4xv + 6x — 8y + ¢ = 0 form a rectangle with the
coordinate axis then the area of the rectangle (in sq. units) is

dxy + 6x — 8y + ¢ = 0 3Edmdn JSrdod Tpen, ddrdsidned g L‘f“ng}:ieﬁjd@o
Dd:jcéoéwﬁr, &5 5%__.156_’&36@5 Beregdn (8.050.08%)

Options:

[



3| ™

12

=10

Question Number : 49 Question Id : 4557344529 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The sum of the minimum and maximum distances of the point (4. —3) to the circle
¥ —_1'1 +4x—10y—7=01s

(4, =3) DoY) D08 2+ 12 +4x— 10y — 7 =0 &3 @RS Mo 817 Hododn HBE
Srddne Hngdn

Options:
3

16

e ]

.12

4 64

Question Number : 50 Question Id : 4557344530 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the tangent to the circle x*+17—4x+21—5 = 0 at (3. —4) cuts the circle
t2+124+16x+2v+10 = 0 at A and B. then the mid point of AB is:

P Ax 215 = 0 S)B5058 (3. ) Hohd 3¢ fo HEPD H +16x+2r+10 = 0
Syt A, Beo 38 s.z:-ar_%‘pﬁ_ona?i AB g Dot

Options:
1. {_6- —9]

, (9.6



Question Number : 51 Question Id : 4557344531 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the circle a2 + 32 + 8x — 4y + ¢ =0 touches the circle x% + 12 + 2x + 4y — 11 = 0 externally
and cuts the circle x> + 12 — 6x + 8y + k= 0 orthogonally. then k =

s o .12 + 8x — 4y + ¢ = 0 =5 g, o —-‘13 +2x+4v—-11=0=3 @) erdrgom

P

PV, K2+ 37— 6x + By + A= 0 v [yEw) oowdysSo B0, k Dend

Options:
| =59

-19

L2

Question Number : 52 Question Id : 4557344532 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a system of circles pass through (2, 3) and cuts the circle o+ }-‘2 =12 orthogonally,
then the equation of the locus of the centres of that system of circles, is

E.'l

ST PN &
§ Syme 568 (2, 3) thom Fdr, X"+ =12 «3I 5= oow@FBso DHod, v
o i L
o

25 SyEre H0d g Sodne DHohHEAs Hsdo
Options:

j dx+6y—-13=0

, 4x+6y—25=0

6x+4y—25=0

Lid

, 6x+4y—13=0



Question Number : 53 Question Id : 4557344533 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The radius of the circle whose diameter 1s the common chord of the circles
X+ +2x+2vr+1=0and >+ +4x+ 39+ 2=01is

) 5., L R 2 3 &
F+y+2x+2y+1=0500050 »*+y*+4x+3y+2=0 o3 S 508 a§d

o3 Lol 0T &0 an@o O3 SIS A 0T
TR0 A0S SySo @BwE) agirdo

Options:

.

[R——r)
-1

-3

Question Number : 54 Question Id : 4557344534 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a focal chord of the parabola v = 4x makes an angle 45° with positive X-axis. then the
slopes of the normals drawn at the ends of the focal chord will satisfy the equation

¥ =4x SorS0csros A0S w8 o g, §5 X-ogsins’, 45° Fndn T, o) &g o

S¢ DS whoondye seven SENED SdnEdao
Options:

| =2 —1=0

) 2H2x—1=0

Question Number : 55 Question Id : 4557344535 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If the angle between the tangents drawn through the point (—2. —1) to the parabola 1= =4x

1s 8. then tan 20 =
_ 55800 Qrond, tan 20=

Do

“1 =4x Hordecirds (-2, 1) Hohdhom AHS D Jmﬁ %

Options:

1,

I
L]

-2

-h-|lu

e |t

Question Number : 56 Question Id : 4557344536 Question Type: MCQ Display Question Number : Yes Single Line Question
; s “.

a+ G

axis) of the ellipse 12 + 412 = 4 then /3 cos .

Option : No Optidn Orientation : Vertical
If o, P are the eccentric angles of the extremities of a focal chord (other than the major

(Boz 8o 5°06) wodsHohHe &3)o0HasH

d‘ﬁo::-QEr 08 T8 o

A as ’.ﬁ
a+pf

M_

K+ 42 =
Eogreny O ﬁr&_}g o3& ﬁCU‘ﬂ -

Options:
=

Question Number : 57 Question Id : 4557344537 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Optidn Orientation : Vertical



The equations of the tangents to the ellipse 9x> + 1612 = 144 which pass through the point
(2. 3)are

]

92 + 1612 = 144 é-gﬁ;ga’m:}é (2. 3) DohrHom Fdd S\Ppe BdoEGolnen

Options:

| X == hayr=3

x+y+5=0y=3

L2

1.—|-1 =¥+ 3=0

Question Number : 58 Question Id : 4557344538 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The locus of the point of intersection of the tangents drawn at the extremities of a normal
o

chord of the hyperbola L} —1— =148
a* b’
W 42
L_z_'b_z =1 &3 esdoeSecho g, 2.8 shoow ag wody HodhIe 3¢ HDd Hddpe
a

o Dol cﬁ;zéﬁr $otHnHan

Options:
a B 5. s
—2_—..:':5' +E?
X 1
1.
a BY 4 2,2\
———={a?=F")
P S S
ﬂ"a 153 g 2 2
—.,——,,:[ﬂ'_‘ﬁ-b )
. 2
3. )
6 6
a 2 g2



Question Number : 59 Question Id : 4557344539 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a = 0. if the sum of the distances of a point from the points (a. 0. 0) and (—a. 0.0) 1s a
constant 2k. then the locus of that point is

as 0%, (a.0.0). (—a.0,0) DohHe Hod &8 HohDHsH fe droe Fodo .8 ?ch:‘fm;p@
2k =013, = Doty BnE) HodhBo

Options:

. x3+k3(h1'2+:2]:k2

- S T s
S

2
=1

Question Number : 60 Question Id : 4557344540 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

IfP=(2.-3.4). Q=(-1.-4. 0). R=(2. 1. 0) are three points and S is the foot of the
perpendicular drawn from R to PQ. then the X-coordinate of S 1s

P=(2.-3.4). Q=(=1.-4. 0). R=(2. 1. 0) e Sor¢h HocHhHes 58050 R Hod PQ &

G5 womardo Sm=ona, S Gng X-08raso

Options:
—45
;13

28
o

-1 | o



Question Number : 61 Question Id : 4557344541 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

T 1s a plane passing through the origin and containing two lines whose direction ratios

are 1. —2. 2 and 2. 3. —1 then direction ratios of the line of intersection of the planes
Xx—v—z+1=0andmr are

T ead Srodohd homardr, 1. -2, 2 S8cdn 2. 3. -1 e a8 F&aggiémrﬁ S0
$H0F0ped 00 G5 S0dn wond, x—y—2+1=050000 To Poss Op BnE), 65
fmspgm

Options:

. o |

T R

-1
1 1,-2.2
o =l 0

Question Number : 62 Question Id : 4557344542 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

l—-:n:n.@.{f:r.‘r:2 +En‘+c*.}

If o and B are the roots of the equation ax” + by + ¢ =0.then lim 3 =
X { x—or }

o 1—4:21:11:5'[(1'..1;2 —I—.bx-l—f)
al+br+c=0&n g Sreren o feond, lim =

3

T (I_a'}_

Options:

a(a-p)
1. 4
3 1

a(a-p)
3. 2

a*(a-p)’



Question Number : 63 Question Id : 4557344543 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

. [ 451 1!4+3x—:"‘
lim —

i—0 2.1' —1 X

Options:
1. 0

a
= | Lh

Question Number : 64 Question Id : 4557344544 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Detine the function/: R — R by

'l 4
£(x)=1(143x)x. if x=0.
lc? . aFx=0.

If 7 is continuous. then log a =

nE ot fR2RO

| @ . x=0=0n3
™ dEcDoBod. fudindBd, wHvd loga=
Options:
1
1,3

|
= |



Question Number : 65 Question Id : 4557344545 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If ¢ = b = 0 and x 1s acute. then i Cos

_1[ b—acosx “‘
dx . a—bcosxy |

: e - o @) . af b—acosx)
a>b>058050 x ?‘Ej}jé oo =onad, —| Cos o e ‘
dx . a—bcosx )

Options:
3
a’ —b°

; becosx—a

"
a4 —h

a—bcosxy

g | oy

a“—b"

5 a—bcosx

1.,r'n1 B

~bcosx—a

I

Question Number : 66 Question Id : 4557344546 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following:

8ol A0 wdNddod

List-1I List-1I
ardia -1 ardar -1
. v
f(:l‘.1 }_ﬂ d_x
R : 13+n‘1
A x+y +3xy=7 ) e
‘E A 3 —(2x+3¥)
B) x3+13=43 1) 3x+2v
1
" 3 3 ¥ )3
C) X+ =3axy 1) —{:
:rz—m-'
(1) =2 ; 5
D) ay(x+3)=2 Wy
—v(2x+v)
v) xlx+2y)

The correct answer 1s
p0G0N Darprho

Options:
A B D

C
1II]]II"?JI

A B E D
Gl 0 1 B
A B € D
I m IV V



B |

A
I

™
=2 O

B
I

-

4.

Question Number : 67 Question Id : 4557344547 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
' 2

1

If _11'2 = ax’ +2x+ec. then ¥° —5- is

dx

. : 3

2 . d-y

.1-‘2 =ax” +2x+ ¢ wong, ;~3—'2—
av

Options:

| ac— 1

, ac +1

3 dac— 1

4 ¢ — 4

Question Number : 68 Question Id : 4557344548 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If /- R — R be a function defined for all x = R by
f (=2 + (1) 4+ 1" (2)x— f"(3) then the area (in sq. units) of the triangle

formed by X-axis. the tangent and the normal drawn to the curve y=f(x)at x=01s

R = Red @dhdrd) =q) xeR o .f[.x:}::cs—l—f'{l}xl—l—f"{j}x—f”{ij oy

L2
ek
oo
=



Question Number : 69 Question Id : 4557344549 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The set of values of x for which £(x)=3x"—8x" —6x" +24x—12 is an increasing

function. 1s

Fx)=3x" -8+ — 63 + 24x —12 2.8 w655 HHhoHdn 258 xenden Ko HHS

Options:

=2 -Du (.2

(—1.2)

L2

, CLDU @)

4 R

Question Number : 70 Question Id : 4557344550 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a function f1s differentiable on [R such that f(x)=4 forallxeR; and if f(2)=—6 and
7 (6) = 8. then the value of /(4) belongs to the mnterval

R 3 »ifodoh Pdabo f(x) =386 & xe R§ f[x}i' wddr, f(2)=-6.f(6)=
g5

_
(S

w003, wivd f(4) deod GoR wo

Options:

L. [-2.-1]
» [3.4]
1 10,2]

4 [5.8]

Question Number : 71 Question Id : 4557344551 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If f(x) = 2x%—3 then

f(x)=2x%—3 wona
Options:

the local minimum value of fis zero

f g L8 805 Dend Bok)
l. =

—3 1s the local maximum value of

i fcﬁa;s"& ﬁ;ﬁ)g r‘i&@ Sensd —3

—3 1s the local minimum value of f

fB»g, 8 a8 Jend 3

fhas neither minimum nor maximum

[ 8DHN0r Soddh, NBADT S0k
4 - @

Question Number : 72 Question Id : 4557344552 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical
1

53 . -
If Iﬁdﬁ. =P(x)+c. then P(x)=

ﬁdx =P(x)+c @ond, eiyd P(x) =
a —x

Options:
II/ 3 .\
I A
— S 1‘ 3 '
3 la
1. :

2 cos”![ £
3 \a

-



Question Number : 73 Question Id : 4557344553 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

f 1

-

] 5
Jsz U3 gy =
bt I
Options:
{ F 2
1 el i
—log| 1 +x3 |——1‘3 +c
3 2
e s
1. A
g 2
4 5.5
xTan | x° |——x +¢
2 | &
f ll l £
—log| 1+x% |——x? +¢
3 3
e ey
3. A
s f 2\ 2
3,4 3|13
xTan | x° |[+—log| 1+x |-=x3 +¢
2 | 2
4, / '

Question Number : 74 Question Id : 4557344554 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

3x+1 x+1 B 2
Ifj ﬂi dx=A-log x + + =+D then A+ B+C=
(x—1) (x+1) x=1 %=1 (x=1)
. 3x X
I 1;1 dx‘zﬂ-logi-l_l-l— D + £ 5>+D wong, A+B+C=
“(x=1) {x+1) x=1 x=1 (x-1)

Options:



I
o |

2 | L

Question Number : 75 Question Id : 4557344555 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Foranyintegern=2.1f I, = [cot” x dx thenI, =

[ = . i e e
o) 08 Doy n 22 8T I,= [CDT X dx =ona, I¢=

Options:

4 2
—cot ' x cot™x
2k

+10g|5i11 x| +c

T o
TR 2
' 4 2
—cot ' x  cot”x .
+ —log |5111 .1'| +c
4 2

L2

c0t4 X cmtl X
* 3
3 4 2

+log |c05 .1;| +c

5
t:i:rt4 X eotx
— —cotx+rc
4 4 p:

Question Number : 76 Question Id : 4557344556 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Sn+3 2
i

lim Z — =

H—0 A
n=5{ 2 2
(}? +7 )3

Options:



51—

%logi
2. 3
z
3 4
5
4 V26

Question Number : 77 Question Id : 4557344557 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2

SH1° HX .
——dx . thena,—a,.a;—a,.a,—a; are in

If a,= .
sin x

i

4 o
2 sin” iy i gL, 5
a, = | ——dx =on=, Ay — Ay, A3 — Gy, Qg — A3 00 OB
5 SInx =

Options:
Arithmetic progression

wo8Ed

Geometric progression

fal=a ] le

ek

-2

Harmonic progression

o SEs

Arithmetico-geometric progression

wol-o@Ed

Question Number : 78 Question Id : 4557344558 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



. . . ¥ .
The area (in sq. units) of the region bounded by the curves y=xlogxand v=2x - 2x" 1s

v=xlog x 558050 ¥ =2x — 22 SESnen HdaddHhdhy BB drogo (S.00r0L %)
:—- L =

Options:

L)
12

5
) 6

o |~

Question Number : 79 Question Id : 4557344559 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The differential equation of the family of curves 1? = a® cos 26 where ‘a’ is an arbitrary
constant 1s:

Dt

¢ s ’ T ; i
a a8 C‘RﬂJ‘“Cﬁ&tﬂg ?g-:‘i-::r-'%' monSHeth 17 =a” cos260% Hrdod SEre Stnoerd s wdfed
HaogEadmn

Options:

izrcmiﬁ
dé

ﬂ=a"ta13.?'.t'5*
dé

12

(-IF.
—Fzr'siniﬁ
de

cnsEH-iﬂ'stH:O
dé

Question Number : 80 Question Id : 4557344560 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



: - ; .. Y FEEV—3 .
The general solution of the differential equation — ="~ 15
dx 2x+y—3

dv x+2y—-3 .. o g 5
L= T T omg esdEes HHEdesn B Trrds TS

dx 2xt+y—3

Options:

| ¥=2{x—y)+log(x—y+2)+e

|f x+ v+

"

U |

4
|{.x-—;-+2}3 =
(2x—y) =e(x+2y-3)

4 X+y—2 262{1'—_1'}3

Pluysics
Number of Questions: 40
Section Marks: 40
Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 4557344561 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If 10 gems™! = x Ns. then the number x is

10 gems™! = x Ns 5005 DOP§ X BN DD

Options:

| 121075

1x107*

-]

3 121079

1x10°73



Question Number : 82 Question Id : 4557344562 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Assertion (A) : The displacement of a vertically projected body during last second of its

Reason (R)

A do (A):

s*dmo (R) :

Options:

oo B
upward motionis 7.

For a vertically projected body the acceleration decreases gradually and

£ : :
becomes —- during the last second of upward motion.

e

E@zoonom 28 HD00ED &8 5308 B0 ig:’j@o%’o oa e gt OF ddaso
) .g
£330 Dok - erbdn.

ESeeonom &Jéﬁgﬂ}@:ﬁ@w 0§ JD0hS 5D @nE é%d;ao EEEb

(3

hdr o/ &dc HF Hddo D58 DEoes®

Both (A) and (R) are true and (R) is the correct explanation of (A)
| (A). (R) o0 Dodr Jdgd0 Sodosn (R). (A) & 538 J3d=

Both (A) and (R) are true but (R) 1s not the correct explanation of (A)

(A). (R) 2> Bodhr Hdgadn 50 (R). (A) & 505 D58 sehd

(A) 1s true but (R) 1s false
J (A) H8gdn 50 (R) esshesgaing

(A) 15 false but (R) 1s true
. (A) eddghn 50 (R) Hedgan

Question Number : 83 Question Id : 4557344563 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A body is projected with a velocity 10 ms™ at an angle of projection 60° from a point ‘O,

If it reaches a point A such that OA 1s *n]: m and OA makes 45° with the horizontal. then
the time taken by the body to reach the pomnt A is

a8 H06Y ‘O Hod af 3PS 10 ms! Fisn SHdodn 60° HEXFwoS BHENo
woart. @8 OA= 3 3mHdoin OA§sa ddroddod’ T Fwo 45° edbgbinm A
Doy BB, & ISP A DHoddd BHLE Hinsesdn

Options:

021

042

L2

0.645

Question Number : 84 Question Id : 4557344564 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A large number of bullets are fired in all directions with the same speed ‘u’. The maximun
area of the ground on which these bullets spread is

(g - acceleration due to gravity)

‘W oek a85a8 «l) H¥es® o8 HFE Hodd DT, vl rdo aghod HOH
E%ﬁ@go
(g - Madodde dodradin)

Options:
g
m

i =




Question Number : 85 Question Id : 4557344565 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two blocks of masses m and 2m kept on a frictionless horizontal surface are connected by
amassless string. Two horizontal forces F; =(4.2t) N and F, =(7.5t) N. where 't' 1s time in
seconds. are acting on the system as shown in the figure. The time at which the tension in
the string between the two blocks becomes 10.6 N is 5.

2.8 @gsaém S8z Borodd dvopn sodadd m HB05 2m @agorHen Ho Do
63020 BIES o°6os” Eonadsd. D559 NG Boh Dtroes® Srdhd o F1=(420N
508050 Fy = (7.51) N &3 §8e 357086 aores ddudRoom. af)d 't' @556 soo
80, Dot HAnw DFghe ordod” S5z 10.6 N 9iHbdH Hips oo S

m 2m

Options:

4

Question Number : 86 Question Id : 4557344566 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Two blocks A and B of masses 5 kg and10 kg respectively are placed as shown mn the figure.
The coefficient of friction between all the surfaces i1s 0.2. Then the acceleration of the
block B is (g=10ms™)

5 kg o003 10 kg (@550°0e0 Her A$8050 B &3 Sod 6300 Hos® drddinm
V) dere 165 Dadee so 0.2 mond B &y &tdao (2=10ms™)

th
O
g
Cx,
L il
ILEF

Options:

| 2.6 ms—

=
- 4T ms™=
26 ms—

4.7 ms™

e

Question Number : 87 Question Id : 4557344567 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A ball moving horizontally with a velocity 2 ms™ strikes the bob of a seconds pendulum at
rest. If the mass of the bob is equal to the mass of the ball and the collision is perfectly
elastic. after collision the bob of the pendulum will raise to a height of

(g=10ms™)

2 ms! 308 §S=dsroddom RDo3rading) e w08 AHORES &O) uf g
Eﬁ"ﬂ§ﬁ’5¢c”ﬂ 5’95’*&;0& SHoT-a% -To Ml (] 5073 w08 |B550°38 Jdrdo Hobosw wdHHrdo

?cge?ﬁ?a’:éam'j, wHirdo dHod Sosido BHS I

Options:



| 80 cm

60 cm

L-2

: 40 cm

Lad

20 cm
4

Question Number : 88 Question Id : 4557344568 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A body of mass 2 kg moving in X-Y plane has a potential energy given by U= (6x + 8v) I.
The body 1s at rest at the point (3. 2) m. The work to be done by the body to reach another
position after 2 s is
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Question Number : 89 Question Id : 4557344569 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A ball of mass 2 kg collides with another ball of mass M at rest. If the collision 1s elastic

and after the collision. the first ball moves with = of its initial velocity in the same direction.

then the mass of second ball 1s

e
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Question Number : 90 Question Id : 4557344570 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Auniform rod AB of length *L" and mass ‘M is pivoted at the centre *O’ i1 such a way that
it can rotate in the vertical plane as shown 1n the figure. An insect of the same mass falls
vertically with speed ‘v’ on the horizontal rod at a point *C’ which is the midpoint of O and B.
Immediately after falling. the insect moves towards the end B such that the rod rotates with
constant angular velocity “@’. If the insect reaches the end B when the rod has tumed through
90°. then the speed v 1s
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Question Number : 91 Question Id : 4557344571 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A particle starts executing simple harmonic motion from one extreme position. Ifa. b and

c are the displacements of the particle from the mean position at the ends of three successive
seconds. the frequency of sumple harmonic motion 1s
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Question Number : 92 Question Id : 4557344572 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A satellite is to be placed in equatorial geostationary orbit around the earth for communication
purpose. The height of such satellite 1s

(Mg =6 = 10**kg. Rg = 6400 km)
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Question Number : 93 Question Id : 4557344573 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a matenal. the ratio of Young’s modulus to rigidity modulus is 2.8. If some force 1s
applied on a wire made of this material. its cross-sectional area decreases by 2%. The
percentage change in its length is
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Question Number : 94 Question Id : 4557344574 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A liquud 1s filled 1n a tank up to a height of 5 m and the bottom of the tank is at 5 m height
from the ground. A hole is punched to the tank so that the liquid comming out touches the
ground at maximum horizontal distance. Then the maximum horizontal distance 1s
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Question Number : 95 Question Id : 4557344575 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A solid sphere of lithium 1s rotating with angular frequency '@ about an axis passing through
its diameter. If its temperature 1s raised by 50 °C then its new angular frequency is
(ithium = 60 * 107 °C)
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Question Number : 96 Question Id : 4557344576 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



In the figure shown. AB is a rod of length 30 cm. area of cross-section 1 cm?” and thermal
conductivity 336 SI units, The ends A and B are at constant temperatures 20 °C and 40 °C
respectively. A point C of the rod 1s connected to ice at 0 °C in a thermally insulated box D
through a highly conducting wire of negligible heat capacity. The rate at which ice melts in
the box is (L. =80 cal g 1)
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Question Number : 97 Question Id : 4557344577 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Hydrogen gas is undergoing a process given by PV? = constant. The ratio of work done by
the gas to the change in its internal energy 1s
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Question Number : 98 Question Id : 4557344578 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

2.8 g of nitrogen gas is in a vessel at a temperature 127 °C. The amount of heat energy
required to increase the rms speed of the nitrogen molecules by 41.4% 1s

(R=831JTmol ' K1)
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Question Number : 99 Question Id : 4557344579 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A gaseous mixture has 2 moles of oxygen and 4 moles of Argon at a temperature T.
Neglecting all vibrational modes of the molecules. the total internal energy of the system

1s
(R-Universal gas constant)

&8 oy DE0s® 2arde uhas, 43rde sl aoinden T efld 5§ w5
OS50 @eode @) §odd Sdhed &niods, & D§9y Sndo wokbs 9§

(R-EqI88 amabon H07080)

Options:



; 4RT

15RT

]

3, 9RT

, 11RT

Question Number : 100 Question Id : 4557344580 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A motor cycle starts from rest from a stationary source of sound and moves away from the
source with a uniform acceleration 2 ms—. Distance travelled by the motor cycle when the
person on it hears the sound of frequency which is 94% of the true frequency. is nearly
(speed of sound in air = 330 ms™!)
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Question Number : 101 Question Id : 4557344581 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



A steel wire of length 1 m. mass 0.1 kg and uniform area of cross section 109 m? is rigidly
fixed at both the ends without any tension. Its temperature is lowered by 20 °C and transverse
waves are set up by plucking the wire at the middle. The frequency of the fundamental mode
1s

(Y =200 GPa. o.= 121 x 10-5°C1)
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Question Number : 102 Question Id : 4557344582 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

For a prism. the angle of the prism is 60° and the refractive index is J; . The minimum

possible angle of incidence so that the light ray 1s refracted from the second surface is
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Option : No Option Orientation : Vertical



Two coherent sources S;. S, and a screen are arranged as shown in the figure. If the distance
between the two coherent sources is nA and the distance of the screen from the nearer
coherent source is D. then the distance of the first bright fringe on the screen from the
point ‘O’ is

( A is the wavelength of the light emitted by the coherent sources )
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Two charged particles of masses m the ratio 1 : 3 have charges in reciprocal ratio as their
masses. They are placed in a uniform electric field and allowed to move. The ratio of their
kinetic energies 1s
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Question Number : 105 Question Id : 4557344585 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Two pomt charges —5uC and +5uC are placed at A and B respectively on a straight line
separated by 5 cm. At a point C if the resultant field is parallel to the line joining the
points A and B then
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Match the following List-I with the List-IT

List-1 List-1T
A)  Gauss'slaw I) Surface charge density
B) Faraday'slaw I) Electric charge and energy conservation
C) Ampere’slaw I) Change m magnetic flux
D) Kirchhoff’s law IV) Change in electric flux

V) Total electric flux
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Two 1dentical condensers are joined as shown in the figure. When the switch S 1s closed.
the total energy of the system is Uy, If the switch is opened and both the condensers are
filled with a dielectric of dielectric constant 3. then the energy of the system becomes U,

U .
The value of —L is
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In the given network. the potential difference between the points B and D is
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A uniform wire of length 200 cm is connected to a battery. two resistors and a galvanometer
as shown in the figure. The galvanometer shows null deflection when the jockey J is at 80
cm from point A. If the resistor R, is shunted with 30 € resistance. the galvanometer
shows null deflection when the jockey J 1s at 100 cm from point B. Then the values of R,
and R, respectively are
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Question Number : 110 Question Id : 4557344590 Question Type: MCQ Display Question Number : Yes Single Line Question

Option : No Option Orientation : Vertical

The sensitivity of a galvanometer is 60 div/A. When a shunt is used. its sensitivity becomes
10 div/A. If the resistance of the galvanometer is 20 €. then the value of shunt used 1s
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Question Number : 111 Question Id : 4557344591 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A thin wire of length L’ made of an insulating material is bent to form a circular loop and a
positive charge ‘q’ 1s given so that it 1s distributed uniformly around the circumference of
the loop. The loop is then rotated with an angular speed ‘@’ about an axis passing through its
centre. If a uniform magnetic tield B directed parallel to the plane of the loop is applied
then the magnitude of the magnetic torque on the loop 1s
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A short magnet oscillates with a frequency 10 Hz where horizontal component of Earth’s
magnetic field is 12 uT. A downward current of 15 A is established in a vertical wire placed
20 cm west of the magnet, The new frequency of the magnet is
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Question Number : 113 Question 1d : 4557344593 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A rectangular wire loop of sides 5 cm and 3 cm with a small cut 1s moving away from an
infinitely long straight wire carrying a current of 30 A with a velocity of 20 ms™ as shown
mn the figure, The emf induced across the cut 1s
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Question Number : 114 Question Id : 4557344594 Question Type: MCQ Display Question Number : Yes Single Line Question
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In the given L-C circuit. inductance is 80 uH and capacitance is 20 puF. The maximum
potential difference across the capacitor is 80 V. The maximum current is
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Question Number : 115 Question 1d : 4557344595 Question Type: MCQ Display Question Number : Yes Single Line Question
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An electromagnetic wave of wavelength 2+ 10719 m passes from vacuum into a dielectric
medmm of relative permitivity 4. Then its wavelength will be
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Question Number : 116 Question Id : 4557344596 Question Type: MCQ Display Question Number : Yes Single Line Question
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When photons of energy 5 eV incident on a photo metal of work function 4.36 eV, photo
electrons are emitted. The maximum impulse of the metal surface 1s
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Question Number : 117 Question Id : 4557344597 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

A moving Hydrogen atom makes a head on collision with a stationary Hydrogen atom.
Before collision both atoms are in ground state and after collission they move together.
The minimum kinetic energy of the moving Hydrogen atom. such that one of the atoms
reaches the excitation state is
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Question Number : 118 Question Id : 4557344598 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Activity of a radioactive sample is R at a time t; and R, at a time t,. Its half life pertod 1s T.
The number of atoms that have disintegrated in the time interval (t; — t;) 1s equal to

TRy =R)T Then ' is equal to
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Question Number : 119 Question Id : 4557344599 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In a common emitter amplifier. the output resistance 1s 5000 €2 and the mput resistance 1s
2000 Q. If the peak value of input signal voltage is 100 mV and B = 50. then the peak value
of output voltage 1s
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Three signals related to amplitude modulation are shown in the figure. The correct
assignment of the signals 1s
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Question Number : 121 Question Id : 4557344601 Question Type: MCQ Display Question Number : Yes Single Line Question

Signal A : Information message. Signal C : Amplitude modulation

Bosdo A 3Srad Hobdo, Bosdo C: &l H80G é@é&géa’ﬁ

Signal B : Carrier wave, Signal C : Information message

Hosdo B g 4800, dosdo C: 385rad Hoddo

Signal B : Information message. Signal C : Amplitude modulation
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Chemistry
Number of Questions: 40
Section Marks: 40
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Group All Questions: No

Option : No Option Orientation : Vertical

If the kinetic energy of an electron of mass 9.0<107! kg is 8.0 1072 I. the wavelength of

this electron 1n nm 1s
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The radius ratio of Bohr’s first orbit of hydrogen like species He™. Li*" and Be¥" is
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Question Number : 123 Question Id : 4557344603 Question Type: MCQ Display Question Number : Yes Single Line Question
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The element Uuq contains 12.8% more neutrons compared to protons. What is the
approximate mass number of 1t?
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Question Number : 124 Question Id : 4557344604 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Observe the following statements

1. The dipole moment of NHj is higher than the dipole moment of NF;.
ii.  The dipole moment of chloroform is zero.

iii.  Covalent bond character in NaCl is more compared to CuCl.

Boh Hd8coeid HBESoED

1. NH;3 G3308) Boieha) graoso, NF3 @) Ogeha raoso 508 S898
. E0Prda DBnE) HDS @grdso )

iii. NaCle® SHo@radodh pod ofwo, CuCl & F&H3 I8

The statements which are not correct are

AB0I8 HSGwen TUI a7

a_

Options:
|1 i

11, 111

o]

1. 1. 111

L

Question Number : 125 Question Id : 4557344605 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct order of energy of Oa, . Tap . My, and &5, orbitals in F, is
gy P p - Rap 2p 2

Fpe5° Opp . Ty TE’:F, balonbh J’;p wOvirg) 0008 ¥§ Edodn

Options:

I:'J' = Ty

* *

=P =p

{Tz <. Tln

- * i *
2p < Tap < Op

P

i 4
J—[zp -, JEP - J[Qp - D-zp



s

< LRy L0,
, o o = Ngp <y

Question Number : 126 Question Id : 4557344606 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the most probable speed of methane at a certain temperature is 400 ms™.. the kinetic
energy of one mole of methane at the same temperature in J is

i

B 1103 Sogrdgd Hifo 400 ms wond «d GFNS 5 2.8 IS

B

Options:
| 1024

, 2048

Question Number : 127 Question 1d : 4557344607 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which of the following are disproportionation reactions?

Bob °83eS* wldard S6gen Ja?

wf,

(g=:-ar, I=18, ag= a0, §= )

(A) 2NO,y+ 2NaOH ;5 —> NaNO,, .+ NaNOy .y + H,0(
() 3CI0”—2CT +ClO;

(D) 3Mg + Ny — MgzNy,

Options:
| AB.D

B.C.D

L2

3. B.C



4. A B.C

Question Number : 128 Question 1d : 4557344608 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If the work done during the isothermal reversible expansion of an ideal gas at a pressure of
10 atm from 4L to a final volume is —184.24 L atm. the final volume of the gas in L 1s

10 atm &S50 5¢ 4L © 2.8 388 ToNIDH IBrY G B80H TgES0st Hb
I8N0 0N Todtioest wh 2005 30 —184.24 L atm =oxnd, = goind £6
HoSHBSmo L exes®

Options:
1. 40

2 400
3. 8

4. 80

Question Number : 129 Question 1d : 4557344609 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The equilibrium concentrations of N,. H, and NH; in the formation of NH; at 500 K are
1.25%1072 M. 4.0x1072 M and 1.6<1072 M respectively. The equilibrium constant K, at
the same temperature is

500 K $& NH;d0ir6e” Ny, Hy $00in NH3 o Sder $£_’g e ddam
1.25%107 M, 4.0x1072 M $:805» 1.6x107 M. o8 &3 5¢ $Sads Joroso K,
Options:

3.2(RT)2

, 32 (RTY
; 320 (RT)?

, 320 (RT)™

Question Number : 130 Question Id : 4557344610 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



If the pH of 0.10 M monoacidic base at 298 K is 9.0. the value of Kj, and pK,, at the same
temperature are respectively

298 Kag 010 M Dg-?fizj%é seddn pH 9.0 =008 =0 i 9¢ Kynboin pky

Senpnen Sthan

Options:
; 1.02107° . 9.0

. 1.0x107 ., 5.0

n 1.0<1071° . 10.0

, 1.0x107* .40

Question Number : 131 Question Id : 4557344611 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The correct statements trom the following are :

1.  Ca(OH), 1s used in Clark’s method of removal of temporary hardness of water

i1. 100 mL of 10 vol H,0, . on complete decomposition liberates 1L of oxygen at STP.
1. Urea can be added to the solution of H,0, as stabilizer.

Bod oi3e® HBGHS Dddeaen

1. g5 égé’é@i 7@ 08 uosdigdl &dfohbs Ca(OH); S <H@riazd
ii. 100mLe 10 vol Hy0y % Srgmr d@rfomrd?y 1L s§izas STP 56 Hderhi
. HyO, @5:0708 oforboirss 08051 Sendddy)

Options:

| i

i1. 111

L2

i i i

I

Question Number : 132 Question Id : 4557344612 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Identify the answer in which. the trends corresponding to hydroxides of group 2 elements
(from Mg(OH), to Ba(OH),) are correctly shown

G 2 Soroso T EE)d (Mg(OH); Sod) Ba(OH), $68) oo Sonohodls §ob

P 0 a’mc‘%m@“, 28N & BrR0E B8rTES0s) 8o

basic character chemical stability solubility
=0 480 Sarodon %6&50 @5"5950:5356
[ .

Options:
mcreases mcreases decreases

| D5 Eletlts Sifp
decreases decreases decreases

. f‘g = ¢f :‘p o B
decreases mcreases mereases

. o o lablabih 3o bTphine
mcreases creases mcreases
FA b geray 3 sh gersh. 85

4

Question Number : 133 Question Id : 4557344613 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

In which of the following reactions. H, is liberated ?
i. Al(s)+HCl(aq) =

1. Al(s)+NaOH (aq) —

iii.  B,;Hg(g) +H,O () =

v. Fy(g)+H,0() -

& 808 @ $6g05” Hy DdSeinds?
1.  Al(D») + HCl(ze) —

1. Al(P) +NaOH (=) —

ii.  B,Hg(a) + H,O (&) —

. Fy&) +HO () —

Options:

| LILIL IV



1.11. 1V

]

1, 11, 1ii

Lid

i, il iv

I

Question Number : 134 Question Id : 4557344614 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the element whose monoxide and dioxide are acidic in nature,

o Saredo cﬁ;:éﬁr SINTHE, B =816 = 31’352,1—"5?6’&} £8) SotTrd@Or & Srersty

8oy,

Options:
;| Sn

4. Pb

Question Number : 135 Question Id : 4557344615 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Methemoglobinemia is caused by the presence of X in drinking water. X 1s

bk

an 03" X wodto S0l 098¢ ho@m Sudnds. X 28?7

Options:
1000 ppm of sulphate
1000 ppm & é@j‘bﬁ

20 ppm of fluoride

20 ppm e J05

" i

200 ppm of nitrate
200 ppm © IBHE



50 ppb of lead
4 30 ppb e B&

Question Number : 136 Question Id : 4557344616 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The three dimensional structure of CHy is given below. The bonds are labelled as W. X, Y and
Z. What are the bonds lying in the plane (A). projecting out of the plane away from the
observer (B) and projecting out of the plane towards the observer (C) ?

CH, Se=dodiod Qoo Sof adgaddd. o'd wogren W, X. Y Hnbosn Z e
ShiAlorstalecsrs 05 der0e5™D) wogren (A). #00 H0d aoHHFMD noTee” H88a508
drdorr &%) orren (B) 5605 €00 5108 aoHirddrd aores” H630808 Shdomr
&od nogren (C) 29?2

H
'&?’
X C”r””“ H
W
H H
Options:
A B K
. XX Z W
A B C
3 Z, W 23X
A B C
. XY W Z
A B C
" W XY 2

Question Number : 137 Question Id : 4557344617 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Assertion (A) : Reaction of 1-butene with HBr gives 1-bromobutane as major product.

Reason(R): Addition of HBr to unsymmetrical alkenes proceeds according to

Markoviikov's rule
&ydo (A): -a:mgéﬂ;am HBr & &85 2005596 a8 @rd sédo 1@ arargda
s'0w0 (R): HBr& srdd « HE @0E), dofed Sby S0 5D oo Yo

adafadoh

The correct answer 1s
HOEH HIFETEH
Options:
(A) and (R) are correct. (R) 1s the correct explanation of (A)
(A) So8a%x (R) en Bodr SleloabET R blelenhy (R) =386 (A) & D00 DDV
1

(A) and (R) are correct but (R) is not the correct explanation of (A)
(A) 5805 (R) &0 Bodr 380050 wona (R) @36 (A) § 560508 Db 5

L2

(A) is correct but (R) 1s not correct

| (A) 308050 50 (R) $0@80 5765

(A) 1s not correct but (R) is correct

I[A) 3858 5°¢0 570 (R) H83386

Question Number : 138 Question Id : 4557344618 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Which one of the following is not aromatic 7

Eod 785" sF3riE TI6 267

Options:
C’}fclopeutadien},rl anion



Benzene

" E‘QE&E

Cyclopentadienyl cation

Cycloheptatrienyl cation

DEIrBEIS srhaire
4 a— ™M aJj I__I:\_

Question Number : 139 Question Id : 4557344619 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

If a metal crystallises in a face centred cubic structure with metallic radius of 25 pm. the
number of unit cells in 1.0 cm? of lattice is

2

]
s

pm 5% o E}r-u g-::- fe el o7 ddyErd Dol Srdnest 5850 20605, 1.0 cm’
o o
srexfoes & ol

Options:
| 2.828 x 10%

11.414 x 10%8

]

1.414 = 10*

12.828 x 10

Question Number : 140 Question Id : 4557344620 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Match the following.
List-1

A) Azeotrope

B) Hemry'slaw

C) Cryoscopic constant

D) Van't Hoff factor

Bof arédd) exddBdosiaain.,

A) QDD
B) R dohdodn
C) @goramnHE %D“‘OQO

D) T0dED Hwso

The correct answer 1s

HOGIS BEFTHBE0

1

L2

Options:
(A) (B) (©)
I I v
(A) (B) (€)
vV I I
(A) (B) (©)
v I I

Question Number : 141 Question Id : 4557344621 Question Type: MCQ Display Question Number : Yes Single Line Question

A4 @ ©
I I I

(D)

(D)

D)

(D)

Option : No Option Orientation : Vertical

D
1)

IV)
V)

List-1I

AT, =1Kym

p=Kgx

AT;/m

Deviation from Raoult’s law
x=CRT

erd)e - 11
AT, =1Kym
p=Kgx
AT/ m

5’“@ Qo0 Hood) Serso
n=CRT



The mass of ascorbic acid (CsHgOjg) to be dissolved i 100 g of acetic acid to lower its
freezing pomntby 1.5°Cimngis:
( K¢ for acetic acid is 4.0 K kg mol™ )

100 g 29438 =50 HHYSS THo 1.5 °C $Hosirds ods® dhosdods ) 0§
0 (CgHgOy) 855078 g o
25838 w50 Ke=4.0 Kkgmol™)

Options:
176

8.8

-2

Question Number : 142 Question Id : 4557344622 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

At T(K). the molar conductivity of 0.04 M acetic acid is 7.8 S ecm” mol™". If the limiting
molar conductivities of H" and CH;COO™ at T(K) are 349 and 41 S ecm” mol ! respectively.
the dissociation constant of acetic acid 1s

T(K) $¢ 0.04 M %438 wsdyo Jrerd airgd 7.8 S em? mol™. T(K) 3¢ H', CH;COO~
© @568 Arerd sir§don SHdm 349, 41 S cm® mol™ wond JIHEBE B0 DS
aorofo

[

Options:

, 1.63 % 107

, 8.33 x 107
5 1.63 x 107

. ][}_1

@
L]
Lad

Question Number : 143 Question Id : 4557344623 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



At T(K). if the rate constant of a first order reaction is 4.606x1073 s71_ the time to reduce
the initial concentration of the reactant to 1/10 in seconds 1s :

T(K) 58 @65 Edrossdy Ben Horogo 4.606x107° s wonid Bairasso @rdosf mEEs

1/10 $ Shostrds H oo DEoges”

Options:

| 500

1000

-2

100

4,30

Question Number : 144 Question Id : 4557344624 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following statements 1s correct 7

Bod 35" HHDD DSGw IB?

Options:
The difference in the initial and final concentrations of the adsorbate gives the value
of ‘x” in Freundlich equation ( x = mass of adsorbate )

whTtndgo §9, Hbrdde HSHEE FronodaA Hasdmoss” X JendH0H

(x= whFado DnE), |BIg0™R)

The mass of adsorbent gives the value of *»" in Freundlich equation

wHTAE0 1050078 aronoG HAnE8moest ‘i’ DendaBod
él oy J—s)

Chemisorption decreases with increase of surface area of the adsorbent

whihgo ¢Hbde aTogo 280 Fobd Sarohs =68 hmo StHhdob

Enthalpy of adsorption is 20 kJ mol™! in chemisorption

garois wuhHidtamoss s amo ﬂoﬁ*@& 20 kJ mol™

Question Number : 145 Question Id : 4557344625 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Blister copper is extracted from copper pyrites. After removal of slag FeSi0;. blister
copper is obtained by

& 556 5750 208D Sod Ay G Dardy. o, FeSiO385 Fofods dihard
6 5mabt Hddom Frochadh.
Options:

self reduction

i RLOEI0 EOSIECE0 S

reduction with CO

, CO & gofhgdemo B8

reduction with coke

§5@ goHEdmo ¥D

self oxidation

éﬁdbo i—ﬁéﬁcﬁ@aa 2e385

Question Number : 146 Question Id : 4557344626 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Which one of the following 1s used to remove moisture from ammonia gas 7

BRAFA0ITE ToING H0d B Fohohbd fod oSt DO SIDBFATE?

Options:
; PO

Anhydrous CaCl,
ward CaCly

2.

Quick lime

1 P s "@Jéal-::



Conc H,SO,
, e HySOy

Question Number : 147 Question Id : 4557344627 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

In the 1‘eactiﬂn-21_(aq}+H2C}(a’] +03(g) - 20H (aq) + I,(s) + O,(g) . ozone acts as

Bob &8ss
2T (2e)+H,0(8) + O3(7) = 20H (222) + L (50) + O5(a7)-
£5°% B HADoS0S5?

Options:
an oxidizing agent

| 8 w8Ed sedgorm

a reducing agent

, 28 Bo%8do sed8om

a dehydrating agent

2.8 &’bgr?_)ét‘ﬁ@a sdgormr

a hydrating reagent

0.8 20880 s88om

Question Number : 148 Question Id : 4557344628 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

X, reacts with water to form HX(aq) and HOX(aq). Y, reacts with water to form O,(g).
Y (aq) and H(aq). Z, does not react with water. X,.Y,. Z, are respectively

X, 083&° $dgToh HX(zme) Hdotn HOX(ze) b d6ythsn. Y, 88 <56 Job
Os(7), Y(=e) Sobosn Hize)od Bﬁﬁﬁjtﬁjcﬁj. Z, DS SEgT080. Xy, Yo, Zy e
RlehISIan

Options:

B 5L B



o B LK

3. FE = C‘lz = :[2

, CL By .1

Question Number : 149 Question Id : 4557344629 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the statements which are not correct.
1.  CrO5and Mn,O; are basic oxides

i.  V,0;5and V5,0, are acidic oxides

u1.  Cr(VI)1s more stable than W(VT)

—
®)
@)
(WH]
£x
)
%
e
e
b3
)
-]
g
-
x,
i
Fay
ol
]
o]

1. V30358080 V0400 25 w81k

i. W(VI) 808 Cr(VI) 2895 3@3

Options:
|1

11, 111

L2

1. 11, 111

e

Question Number : 150 Question Id : 4557344630 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Identify the complex which exhibits optical 1somerism.

G535 arclymsady S0 Sodard) HBowied

Options:
! C D{NHgJi (S 04} Br

, Co(NH,); Cls



; Co(en); Cl5

, Co(NIH;), (NO,) Cl

Question Number : 151 Question Id : 4557344631 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Examples of thermoplastic polymer (X) and thermosetting polymer (Y) are

$697HE FONE (X). 18y FO0E (Y) ok &t

X Y
Options:
teflon neoprene
| BES ABTDS
neoprene ghyptal
BT Qerd
2.
polystyrene bakelite
SRV DEDET
3 = .
bakelite polythene
, BE86 FOBHS

Question Number : 152 Question Id : 4557344632 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Fischer projection formula of D - (—) - fructose 1s

D- () - B8 Ha8 BEHE Foner

Options:



CH,OH

C=0
H—F— OH
HO———H
H— [ OH
CH,OH
CH,OH
L
HO — T H
H—T—O0H
H — T OH
CH,0H
CH,0H
¢=0
Ho—+——H
H—+— OH
HO — T —H

CH,OH



C=0
H —+—OH
HO —+—H
HO — T H
CH,OH

Question Number : 153 Question Id : 4557344633 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The drug used for relieving tension is

DITBEHS5 ShodSERs a8 Sod

Options:
Terfenadine (Seldane)

HEoSAS (H5aS)

Alitame

=

. =B

Meprobamate

Question Number : 154 Question Id : 4557344634 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Chloroethane with silver acetate forms X and with L1AlH, forms Y. What are X and Y?
56" a0 boxd Jb8aE X & $H8odn LIAIH.S Y Q"J-iﬁ:jd}@o&. X 50050 Yeu 0d?

X i 4

Options:



| HiCCH,CH; H,CCHO
HCOOCH,CH; H,CCH,0H
, HsCCOOCH,CH;  HyCCHg

, HsCCH,COOH H,CCH,Li

Question Number : 155 Question Id : 4557344635 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

Pent-1-ene reacts with diborane to form X. X on oxidation using H,0O, mn the presence of
aqueous NaOH gives Y. Compound Y is

085 -1- &8 FE0IS SETos X & ddyHdy0s. Hy0, & NaOH sog@dno 80§0s°

Options:

| CH; CH, CH, CH(OH) CHy
, CH,CH,CH, CH, CH,0H
, CH;CH, CH(OH) CH, CH;

, CH; CH, C(OH) (CH;) CH;

Question Number : 156 Question Id : 4557344636 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Identify X and Y in the following reactions

Bob Sogoes” XY of hiodos

Br, / H,O
2 2 v X
Phenol ———
Fa s L] Cone. HNDE
0
Hhe —5 ¥
b.4 Y
Options:

OH

OH
Br i _NO,
OH OH
i Br 0,N. f _NO,
B

I

OH OH
Br - i _Br DENUNDE
3,
OH OH
Br . JT: Br 0,N. i NO,
Br NO,
4. -

Question Number : 157 Question Id : 4557344637 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



Identify m-cresol (A). catechol (B) and resorcinol (C) from the following

Sob o°des* m-ETS (A). 588'S (B). bargias (C) o HfobSod

A B C
Options:
; OH ;
L OH OH
CH; : :DH OH
; OH ;
, OH OH
OH :: :DH CH,
; OH ;
OH OH

OH OH OH
:: :CH3 :: :DH

-0

OH

Question Number : 158 Question Id : 4557344638 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical



What are X and Y in the following reactions ?

8ob SEgees® XY e JD?

Cl, / hv H,O
o .> X =
373K
Toluene —— ——> Benzaldehyde
i Cro,Cl, H.0 Bow s
- ¥ X
Cs,
X b £
Options:
: ,CCl; : - CH[OCt(OH)Cl;
1.
: .CHCI, : . CH[OCr(OH)CL ]
: - CHj Cl @/ CH[DE T{DH}}CIE]E

CH; CH[OCrCL;],
a :

Question Number : 159 Question Id : 4557344639 Question Type: MCQ Display Question Number : Yes SingleLine Question
Option : No Option Orientation : Vertical

Reaction of RCOOH with R'OH takes place in the presence of H,SO, to form an ester.
The mtermediate in the reaction 1s

RCOOH. R'OH & H,80,35:580¢5 ddgTob JH65 J8\6H308. $6ge™ JE)E Sdgho

3 i i &y

e

Options:



L-2

R—-C—-0OR'

OH H

Question Number : 160 Question Id : 4557344640 Question Type: MCQ Display Question Number : Yes Single Line Question
Option : No Option Orientation : Vertical

The reagent used for the distinction of 1°. 2° and 3° amines is

1°,2° S538a3» 3° Jdnded: mlodwmad o8 5o
Options:

, CH;COCl

ZnCl, |HCl

H,C @ S0,Cl

] [Ag(NH;)]



Date: 24-04-18 AN (Shift 2)

APEAMCET-2018
Engineering Stream Preliminary Key

Q.No. | Answer Q.No. | Answer Q.No. | Answer Q.No. | Answer
1 3 41 1 81 2 121 3
2 2 42 1 82 3 122 3
3 3 43 3 83 2 123 4
4 1 44 1 84 2 124 2
S 1 45 1 85 3 125 2
9 2 46 3 86 4 126 4
7 2 47 3 87 4 127 4
8 2 48 3 88 1 128 2
9 1 49 1 89 4 129 4
10 3 50 3 90 2 130 1
11 3 S1 1 91 3 131 4
12 4 352 2 92 2 132 4
13 1 53 2 93 3 133 3
14 3 o4 1 94 1 134 3
15 3 55 3 95 4 135 3
16 3 56 1 96 4 136 1
17 2 S7 1 97 4 137 4
18 3 58 4 98 4 138 3
19 2 59 2 99 4 139 4

20 1 60 4 100 2 140 2
21 2 61 2 101 3 141 3
22 4 62 4 102 3 142 1
23 3 63 2 103 2 143 1
24 1 64 4 104 4 144 1
25 1 65 4 105 1 145 1
26 2 66 3 106 3 146 3
27 3 67 1 107 3 147 1
28 2 68 3 108 1 148 2
29 3 69 3 109 4 149 4
30 3 70 3 110 1 150 3
31 2 71 3 111 1 151 3
32 4 72 3 112 4 152 2
33 1 73 4 113 3 153 3
34 3 74 1 114 2 154 3
35 3 75 1 115 1 155 2
36 3 76 4 116 3 156 4
37 1 77 3 117 3 157 2
38 2 78 4 118 1 158 2
39 4 79 4 119 3 159 4
40 1 80 4 120 2 160 3




